1
a). A=[1 2 1;3 1 2;2 2 3]; y=[2;8;9];x=A\y  (or x=A^-1*y or x=inv(A)*y)

b) A=[17 24 1 8 15;

      23 5 7 14 16;

      4 6 13 20 22;

      10 12 19 21 3;

      11 18 25 2 9];

b1=[2 2 3 4 1]'; b2=[4 -1 4 -1 -1]'; b3=[4 3 -2 -2 4]';

x1=A\b1; x2=A\b2; x3=A\b3;

c) B=[b1 b2 b3];X=A\B

d) The sums of each column(row) are the same
2

a) A=[1 -1 1;0 2 2;1 3 -1]; [P,D]=eig(A);
b) B=[1 2 1;1 -1 2;-2 -7 -1]; [P,D]=eig(B);NO, it has complex eigen values.
3

a) x1=[-2*pi:4*pi/1024:2*pi];x2=[0:2*pi/1024:2*pi]; x3=[-5:10/1024:5];

>> y1=2*sin(x1)+cos(x1);grid on;title(‘Graph of f(x)= 2*sin(x)+cos(x)’);xlabel(‘x’);ylabel(‘f(x)’);

>> y2=exp(x2).*cos(x2); 
>>y3=1./(1+x3.*x3) (or  y3=1./(1+x3.^2));
b) k=[2 3 4];x=[-pi/2:pi/1024:pi/2];
y1=1./(cos(x).^2+k(1)^2*sin(x).^2);

y2=1./(cos(x).^2+k(2)^2*sin(x).^2);

y3=1./(cos(x).^2+k(3)^2*sin(x).^2);

>> plot(x,y1);hold on; plot(x,y2); plot(x,y3);
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